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SAT Math Test Problem Children:  Solving Quadratic Equations 
(Part 5) 

 

15. 

𝑥2 −
𝑘

2
𝑥 = 3𝑝 

 

In the quadratic equation above, k and p are constants.  What are the solutions for x ? 

 

A)  𝑥 =
𝑘

2
±

√𝑘2+48𝑝

2
 

B)  𝑥 =
𝑘

2
±

√𝑘2+3𝑝

2
 

C)  𝑥 =
𝑘

3
±

√𝑘2+2𝑝

3
 

D)  𝑥 =
𝑘

4
±

√𝑘2+48𝑝

4
 

 

 

16. 

(𝑥 + 4)2 − 9 = 0 

 

What is a value of x that satisfies the equation above? 

 

 

17. 

(𝑥 + 2)2 − 9 = 0 
 

What is a value of x that satisfies the equation above? 

 

 

18. 

(𝑥 + 2)2 − 25 = 0 
 

What is a value of x that satisfies the equation above? 

 

  



19.  What are the solutions to the equation  

2𝑥2 − 72 = 0 ? 

 

 

20.  What are the solutions to the equation  

2𝑥2 − 32 = 0 ? 

 

 

21.  What are the solutions to the equation  

3𝑥2 − 75 = 0 ? 

 

 

 

ANSWERS 

 

1.  −2 ± √3 8.  8 15.  D 

2.  −2 ± √2 9.  9 16.  −7 and −1 

3.  −2 ± √2 10.  4 17.  −5 and 1 

4.  
1

5
 11.  

13

5
 18.  −7 and 3 

5.  
1

3
 12.  

14

3
 19.  −6 and 6 

6.  
1

3
 or 1 13.  D 20.  −4 and 4 

7.  4 14.  C 21.  −5 and 5 
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